**Notice:** Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

# KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form CP-4
December 2003
Type or Print on this Form
Form must be Signed
All blanks must be Filled

WELL PLUGGING RECORD K.A.R. 82-3-117

Lease Operator: V.J.I	. Natural Res	ources ]	API Number: 15-145-21500-00 - 00							
Address: 30-38 48	th St. Astor	ia, New	Lease Name: Chicago Ranch							
Phone: (785 625 -8	360 Operato	r License #:	Well Number: 1							
			Spot Location (QQQQ):270 W NE - SE - SE							
(Oil, Gas D&A, SWD, ENHR,		dic, Other)	(If SW	D or ENHR)	990 Feet from	North / K South Section Line				
The plugging proposal was	approved on:									
by:	Mr. Lac	у	Sec. 3 Twp. 23 S. R. 17 East X West							
Is ACO-1 filed? X Yes	☐ No If not, is v	vell log attache	County:Pawnee  Date Well Completed: 12-10-04							
Producing Formation(s): Lis	t All (If needed attach an	other sheet)								
	Depth to Top:	Bottor	m:1	T.D		12-10-04				
	Depth to Top:	Bottor	n: 1	T.D		12-10-04				
	Depth to Top:	Bottor	n: 7	T.D	Plugging Completed:	12-10-04				
Show depth and thickness	of all water, oil and gas	formations.								
Oil, Gas or Wa	ater Records		(	Casing Record (S	Surface Conductor & Production)					
Formation	Content	From	То	Size	Put In	Pulled Out				
Surface		0	0 802		8021	none				
						·				
hole. If cement or other plu 1st Plug 40sk	igs were used, state the s at 1100!	character of	same depth pl	aced from (botto	om), to (top) for each plug	treat from Sel tour 6.4. It bress dead				
8 5/81 wood pl	va at 4001	Onlea 16	Calsa @ Da	+ 1107.0		JUL_ 1 2 2005				
8 5/8" wood p1  Name of Plugging Contractor					License #: 324	KCC WICHITA				
Address: 10244 NE	Highway 61,	Pratt Ks	67124	·						
Name of Party Responsible	for Plugging Fees: Sa	me as ab	ove							
State of	County,			. SS.						
	Jason Ding									
sworn on oath, says: That I	······································		nts, and matter	_ (Employee or s herein contain	Operator) or (Operator) on led, and the log of the abo	above-described well, being first duly  bye-described well is as filed, and the				
same are true and HRISTINE NOTARY STATE OF My Appr. Exp.	THE PURE God.				•	RIVERRA. Haysk				
	SUBSCRIBED and S	WORN TO be	fore me this	day of	fine	20 6 5				
	Chris	Notary Pub	X/CAI	Jel My	Commission Expires:	012-06				



### SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

#### SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

## SALES & SERVICE OFFICE: 1700 S. Country Estates Rd.

P.O. Box 129 P.O. Box 129 Liberal, KS 67905-0129 [620] 624-2277 [620] 624-2280 FAX

## Invoice

Bill to:	9053		oice Invoice		Order Order Date			
	VJI Natural Resources	412	2003 12/6			2/1/04		
	c/o Jason Dinges 1584 Smokey Hill River Rd. Hays, KS 67601	Cemen	Service Description Cement					
			Lease	1	Well			
AF	E CustomerRep Treater		Chicago Rar		1			
211.7	CustomerRep Treater  K. Roach C. Messick	Wei New W		chase Order	Terms			
ID.	Description			The second second and the second seco	Net 30			
D200	COMMON	<u>UOM</u>	<b>Quantity</b>	Unit Price	<u>Price</u>			
D201	A-CON BLEND (COMMON)	SK	125	\$11.85	\$1,481.25	` ′		
C320	CEMENT GELL	SK	210	\$14.15	\$2,971.50	(T)		
C310	CALCIUM CHLORIDE	LB	236	\$0.25	\$59.00	(T)		
C194		LBS	948	\$0.80	\$758.40	(T)		
F145	CELLFLAKE	LB	83	\$2.00	\$166.00	(T)		
E100	TOP RUBBER CEMENT PLUG, 8 5/8"	EA	1	\$145.00	\$145.00	(T)		
	HEAVY VEHICLE MILEAGE - 1 WAY	MI	50	\$3.50	\$175.00			
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY		50	\$2.00	\$100.00			
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	790	\$1.50	\$1,185.00			
E107	CEMENT SERVICE CHARGE	SK	335	\$1.50	\$502.50			
R202	CASING CEMENT PUMPER, 501-1,000' 1ST 4 HRS ON LOC.	' EA	1	\$924.00	\$924.00			
R701	CEMENT HEAD RENTAL	EA	· 1	\$250.00	\$250.00			
			Si	ub Total:	\$8,717.65	•		
			I	Discount:	\$2,179.41			
	_		Discount Si	ub Total:	\$6,538.24			
		<b>unty &amp; State T</b> Taxable Item	Cax Rate: 6.30%	Taxes:	\$263.71			
	• /	тихаріе пет		Total:	\$6,801.95			
	JUL 1 2 2005							

12/30/04 1231

KCC WICHITA

			INVOICE NO	).	Subjec	at to Correction		FIELD	ORDER	RDER 9106			
ACID			Date 12-1-04		Lease	go Ranch	We		Legal				
Customer ID						nee		State .		3-235-17W			
				<del></del>	Depth 1 GLW	Formation	n	1 45	Shoe Joint	Shoe Joint			
C V. J. I. Natural Resources					Casing.	Casing Depth		TD	loh Type	Job Type			
R					Casing, 23#	Casing Depth	<u> </u>	806	Cement-Su	Cement-Surface-New Well			
G E			***************************************		ten ten	ny Roac	h	Treater Clar	ence R. Mes				
							1	-					
AFE Number		PO N	umber		Materials Received by	X/a/			LL .				
Product Code	QUANTITY	MATERIAL, EQUIPMENT and SE			<u> </u>	LIBET DOUG	1			COUNTING			
D-200	125 str.	1		EN I and SE	KVICES USED	UNIT PRICE	<del></del>	MOUNT	CORRECTION	AMOUNT			
D-201	210 st.			1600	4-4)		E	<del></del>					
	210 0113	1	10 11 010	COM	[NOT]		1						
C-320	23616	Came	ent Ge		· · · · · · · · · · · · · · · · · · ·								
C.310	94816.	4					1						
C·194	1	•	latte	110(6									
	0.5 1.5.	<u> </u>	141110				<del> </del>						
F-145	lea.	Тор	Rubber	Cene	nt Plag, 8	7/8 <sup>(1</sup>	+						
E-100	Sa mi	Heav	v Vehic	اه M.	leage 1-	4.	<del> </del>						
E. 101	50 mi	Dick	up Mile	200	leage 1	way							
E-104	790 +m.	13	T Deliv	age_		way	<del> </del>						
E·107	335 str.	Bull Delivery Cement Service C			har-a		<del>                                     </del>						
	<i>V.J.J.</i> JIII.	CEMIC	-m ociv	ice C	nuige		<del> </del>						
R-202	lea.	Casi	M COMEN	t Pumai	er, 501-1	man'							
R-701			nt Head										
					· · · · · · · · · · · · · · · · · · ·		<b>†</b>						
		Disc	counted	Pric	<u></u>		\$65	38.24					
			taxes				1	100					
	***************************************					and the second							
					RECE	IVED				/			
						2 2005							
					7001	<b>ICHTA</b>							
			7. · · · · · · · · · · · · · · · · · · ·		NULV								
							<u> </u>						
102 <i>44</i> NE U	way 61 - B.O.	Doy Oct	3 Due 11 - 110-	C7404-00	10 0								
TUZ44 NE M	way 01 - P.U.	BUX 801	s · Pratt, KS	6/124-86°	13 - Phone (620	) 672-1201 · F	ax (620)	672-5383	TOTAL				

# TREATMENT REPORT

95					Г	Customer	D			Date			To - 100 per 1	
ACID						Customer V.J.I. Natural Resources   2-1-0  Lease								
SER	V 1 C	E 5	L L C			Lease	. /VaTUI	al Kezanica	e2	Lease No.	<del>'                                    </del>	Well# /		
Field Order # Station Pra +						Chicago Ranch Cashing 23+/19th 805'			$\neg$	County Paw			State	
7	ene	nt. 5		e- Ne	wV	1/011	10 10 2	Formation		law	Legal Descri	iption 35-17น	<u>πs.</u>	
	PE DAT			ERFORAT				LUID USED	Т	Ti		TRESUME		
Casing Size	3-14 PH	ubing Size	Shots/	Ft		······································	: A	A /	╁	DATE				
Depth 1		epth	From		<b>~</b> _		210390	to A. Con (con mon) with 14#1st cellflate			5 Min.			
Volume 51.526	Li V	olume			To			•	14	in		10 Min.		
Max Press 250		lax Press	From		То		12番Igal	., 15.46 gal. 1 stt.	) 2 <sub>A</sub>	2.56 cu.ft./str.		11 .15 Min.		
Well Connect	tion A	nnuius Vol.	1		То	125390		ITS COMMON WIT		Avg th 2% Gel., 3 &C.C.,		4#6/T.ce//flate		
Plug Depth 790		acker Dept	- 1		То	「SO4 帯		lgal., 6.5 gal. 1 sh		<u>,36 c u . †† .  </u> as Volume	s/r.	Total Load		
Customer Re	presental	tive D	From		To Ste	Station Manager		trest H <sub>2</sub> O		Tractor				
	renn	AVG	pach	مما	+		ve Aut		<del></del>	Clare	nce R./	Messic	<u> </u>	
Service Units Time PM	Cas	~ ;	Tubing	109		27_	335	571 -		<u> </u>			<u> </u>	
5: 30	Press	sure	Pressure	DOIS, P	umped		Rate			Servic				
	<u> </u>							Trucksonla	cati	en and hole	1 safet	meeti	ng	
9:42								Petromant	Dri	lling Stan	rt to ru	19,45	23#8 <sup>8</sup> 78°C5	
11:40			***************************************				<i>C</i>	Casing in w	ell	breatici	rculatio	nwithre	Mudpen	
12:05	100			10		5		Start lobbl. Fresh H. o Pre-Flush						
12:07	150		<del></del>	96	-	5		Start to mix 210 sts. A. con						
12:27	175		***************************************	31			5	Start to Mix (25 shs. Common						
12:33					***************************************		·	Stop pum		9				
_								Release pl	.ug		The result of the second of th	·		
17:38	150						<u>S</u>	Start Disp	lace	ement	The real of the second			
17:48	250	2—		So	·····			Stop pumpin	<u>19.P</u>	lugdown.	Shutin	hend ar	nd releas	
								pressure						
			****					Washup pu	mpt	ruck				
1:10			constitution of	F Desait 18 18 August				Job Comp	let	e				
				EIVE!		-		Thanks						
			2 A A A A A A A A A A A A A A A A A A A	1 2 200				Clarenc	e (	Messic	4			
			KCC	WICH	HTA	<del> </del>								
	·		u -apr -ar		·····	-								
					-	-								
		_				-								
					·	-								
102/	14 NE	Hiway	61 o P	O Roy	0612	D.::	I/O 0771	4.004						
		- Hivay		O. DUX	७७।उ	નાંદાપ	, NS 6/12	4-8613 • Phone	e (62	0) 672-120°	• Fax (6	20) 672-5	383	